The Economic Cycle
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Economy is Cyclical. It spins in five different recurring cycles. Following the economy cycle can help investors; invest in the specific industries that are favorable to such cycles. 

Early Expansion: The economy is just beginning to grow after a period of recession. Technology and capital goods are in demand due to curtailed investment spending during recession. As these companies ready to increase production, the transportation industry picks up. This is due to businesses ordering inventory and etc. In early expansion cycle Technology, capital goods, and transportation industries to pay close attention. 

In between of Early and Middle expansion is the peak of the economic cycle.

Middle Expansion: The economy has been growing for some time. Capital goods producers have sold off much of the inventory and still capacity production is not met. Full production leads to increased demand for basic materials such as chemicals, paper, aluminium and steel. 

Late Expansion: Earnings growth is harder to come by. Investors tend to favor reliable stocks less sensitive to economic slowdowns. Consumer necessity goods like toothpaste are attractive and remain in demand whatever happens to the economy. Healthcare, food, and beverages and consumer necessity goods prove to be particularly attractive stocks. 

Early Contraction: The economy is entering recession. Recession is two consecutive period of slow economic growth. Utilities are seen as safe haven, as consumers continue to use electricity, water, and telephones despite the recession. 

Early contraction is referred to as the bottom. 

Late Contraction: Inflation is declining and interest rates are falling. This benefits the financial sector. As the economy began to expand investors have good opportunities to invest in undervalued companies. These companies mostly with strong market position but share price beaten down due to previously, slowed economic growth. In this period explosive earnings growth is expected as economy expand. 

Problem with Full Employment 

Full employment is good but there is only one problem. The problem is that employers cannot find workers to hire in order to increase production capacity and meet consumer demand. Employers will increase prices due to more demand. This is how full employment can flicker inflation. 

Inflation

Inflation is an overall increase in prices. “Too much money is chasing too few goods.” In the short run when prices are increasing this is sometimes caused by the government printing more money. Many echo this as indirect tax, since consumers have less purchasing power. 

The Problem with Inflation

The problem with inflation is consumers end up with less purchasing power to buy goods and services. The same groceries purchased for $100 in January will cost $120 in August. 

When the Fed sees evidence of inflation building up, it raises interest. (Federal Reserve Bank is the central bank in the United States, its function is to formulate and execute monetary policy). Interest rates are interconnected within the economy. Consumers will be reluctant to buy goods on credit at higher interest rates. The moral of Fed raising interest rates is to calm down consumers spending and inflation is dampened. 
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